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Time Allowed : 15 Minutes (.,«:/Ugg) L 15 @ =

Maximum Marks : 12 LHQ"'/’”?J/ 12 : A8
Lb.o')ZG/J)G.'_.u:U)j’Jéé.).d—l/Ld‘/ﬁ{LéKL}‘ﬁ -ujéf:é,:[) s CeBcA .:«U:?.;’Z%tgﬁd’r/; Py
Wl N zasfi e SE S S\ LS s tmshie T e oL SN I S

Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The half-life of a certain JLtgng/w‘j‘fﬁ,iy’TJ lp{[.é.,/}”u:» -§_u;.gJubsvaiy’Tu’f"’.ﬁ 1-1
isotope is one day. What is the quantity 9f isotope after two days :

One-quarter (31321 (B) One-half Jngyzd')T (A)
None of these uﬁ’d!/c,ufu’ (D) One-eighth /118 (C)
The turn ratios of a transformer is 10. It means : 19 %10 .:.—r‘ J u;/% L Y2 //f 2
V - N =
V= % @  Ne=10N, ) w,= %) (8) Le=104, @y
To make burglar alarm we use : 9 el 4_ L it rAJT /{/ 3

NAND gate /% (D)  NORgate 27t (C) ORgate &doT ((B)~ NOT gate 2/t (A)

The relation between Vv, f and A of awave is : P : \Q’: i%’: SIS ¢« $Us § 4 L4
V= ;{/ Av= 2 =) =A
7 (D) v=f (C) =Y (B) wf (A)

Which refers to computer programmes and the manug@f{ Fw d o S S f ol /’/;{ /ig:.,./ 5
that support them : 2

. . 0
Information ijw (D) Software /’::@ C) Hardware 7zs5/4 (B) Data iz3 (A)
The loudness of a sound is most closel t Qto its - e by (/( A S wl ¥ A d/ #3016
Amplitude 3 uf,’ff (D) Wavelé a"%‘: (C) Period % (B)  Frequency u‘*:gf (A)
o .
Which compound is used fo@osis of brain tumor : : i;tndl«*""’lfcf gf Pufé.égﬁﬁ @Jdr‘/(f b7
N-152 (D) H-3 (C) 1131 (B) P-32 (A)
Capacitance is defined as : ' ¥ do § 0A U e Jf‘.f"‘-—"»‘f 8
v
7o ©) % ©) Qv (B) Ve (A)
Image formed by a camera is : - Jrz 0 & G’ él 2 a/-.r 9

Virtual, upright and diminished U ertsl S5 (B) Real, inverted and diminished  (sZersl e (A)
Real, inverted and magnified dz.:,nt/ﬂ(,?hdf/ (D) Virtual, upright and magnified d‘/.ago:fu’gcgf;;n (C)

The logical operation performed by this gate is Ajj}\ fe b Jﬁ b Lﬁ{#’ ..QU L L’JJ’/ - d/.," J1110
X

8

OR .7 (D) AND %! (C) NOR Jt (B) NAND ’z (A)
What happens to the intensity or 9?2&/&’2:,}Ju:ud/u’¢—d_/g Lbfu.‘.':w’-p(u:}féfgﬁﬁa_éi.}éz,{ 11

the brightness of the lamps connected in series as more and more lamps are added :

Decreases ;.dm{ (B) Increases < bnilol (A)
Cannot be predicted 4‘-&’ ti (D) Remains the same b‘*{dﬁ"&}&/ ©)
From which of the following we can get information : ujé/d’" b o 'J & )/;b._,fc, Jr L J: 5042112
almost about every thing : )
Internet &% (D) Computer /*y_'f,.{ (C) Teacher »&1 (B) Books AUV (A)
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( 2022-2024 £ 2020-2022556 NeeS 438 Mt eeeeememeeemaaee Al
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10 2. Write short answers to any Five (5) questions : : égwﬁ?&gufr (5) ég F Jf -l
(i) Define time period and frequency. : -_é - /‘7 d/ d"’:gf Il éﬁ (”L‘ (i)

(i) If 100 waves pass through -&= (}Vﬁl)&z;?un&futzo sec ;&’gvﬁﬁﬂyj.fs 100 A (ii)
a point of a medium in 20 seconds. What is the frequency of the waves?

(iii) Think of several examples of -uxuw::ayf"gfu#fiﬁ}d;}é.t%d-'-'l?"&l(fu/‘:’c;d;]q/)u (iii)
motion in every day life that are simple harmonic motion.

(iv) Write some uses of capacitors. -é Ji-i £2 P ﬁr (iv)

(v) Write two characteristics of series combination of capacitors. - & ay:’%:g! PSS L3 ‘/j{ (v)

(vi) What is difference between fixed capacitor and variable capacitor? ?q._J)iuﬁ ‘/}U-’*ldgml )15':‘«,5 (vi)

(vii) What is the difference between cell and battery? , ) y’ S S J‘-' (vii)
(viii) Define resistance and write its unit. & :«@u’ 7] _.é h.y/.’. J J&%’J (viii)

10 3. Write short answers to any Five (5) questions ;.

% C oz o (5) b df -3
LGt &4 gL u S5 ABsIEMT ()

(ii) How can you reduce the level of noise oo £ /S {1’ 4./ .?af:( Jju‘f g 2 (i)
vigation and ranging)? e sly t,;( < (sonar) s (iii)
and information? e 3/ yf ¥ o u%lul » 3 (iv)
rough optical fibre?  UF 2 4/ 25 LA GJ?-":T S #azy (V)
between hardware and software? S 3/ (_f e el sl zzasd (Vi)

(i) Define loudness of sound. ‘.’c"_dm;ﬁ i
How does it change with the increase in am

(iii) What is meant by sonar (soun

(iv) What is difference betwe

(v) How are light sign/a&s@

(vi) What is the differe

(vii) Define atomic number and mass number. -gi_f - /". d/ ﬂ;u’ b sl / L (vii)
(viii) How can the scientist estimate dead tree ?ug":.ﬂd: aJUlK/’Ju»{fu/c_Jlﬁ"L C-14 laFL (viii)
age by C-147?
10 4. Write short answers to any Five (5) questions : : Jaywﬁéawr (5) ég & J/ -4
(i) Define power of lens, also write its formula. -c’:’f U § Ut sl 5’5 -2 /‘." J /:!; J ﬁ.’ (i)

(ii) According to sign conventions ?qlkﬂﬁ:ldqﬁﬁéﬁuijjfﬂ/é’&&fﬁ:-,Lu:,?:/ (ii)
when object distance are taken positive and negative in spherical mirror.

(iii) Describe the principle focus of a convex lens -g‘;: f: b < rif't.l;Z.J e Jf E JQ z /.'.' J-(/ (iii)

by ray diagram.

(iv) Write two uses of logic gates. -_.é {; JLJ" Py u’if J U (iv)
(v) Draw the symbol of NOT gate and also write its truth table. &t J"" s vad ot (v
(vi) Define the term thermionic emission. ' -“i,: ._.gf/." J cﬁ-“’ ..-6:,‘/7 (vi)
(vii) Write working principle of electric motor. 24 Jr i ¥ b f( L W .J//"g (vii)

(vill) What is right hand rule to ksl L L)}Py&g-@%wﬂm&@ (viii)
determine the magnetic poles of a current carrying coil?

C&10s)
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Note : Attempt any TWO questions. w4 el £ ey » e & :ed
1,1.2 -gf:/zé.dﬁy&D}JﬂjjJJ{’:J&&LﬁL/UWLGJJ ‘.‘q_:l/y/c..gf‘g/./(ﬁ;’: () -5

5. (a) What is meant by refraction of wave? Explain the refraction of water waves diagrammatically
| by using ripple tank.

5 e Ve §EE 1NV e B by ot e 12HF L 68F 3\ EGH L iy (L)
(b) Two cap;cifors of capacit.‘a_h'ces -.ér)"u"’-/ﬁﬁg }’55: -é(#ﬂ o’.'.‘&:l/g(}:?u I

6uF and 124 F are connected in series with 12V battery. Find the equivalent capacitance
of the combination. Find the potential difference across each capacitor.

4 6. (a) Explain transmission of radio waves through space. -.é;f ealonf Mfc_uﬁ 050/1',{3;,’%1 (&) -6

5 kel L L e Lol 1.5km et _f 350m sl 2KHz wF Pk # sl s HE S bkl (L)
(b) A sound wave has a frequency of 2KHz and wavelength 35cm. How il )it
take to travel 1.5km? . @ | |
4 7. (@) Whatis an electron gun? How does it work in CRO?-@@KLJU‘. CRO ‘-"[—E@(‘J:}gl ()7
. ; : 5 ) 3 V1
5 Llin AL 5oL 20V SIS Ay N (@% 0 edSur kit il ()

(b) A step up transformer has turn ratio 1:100 rnating supply of 20 V -__é (3‘-"‘ é);d}ﬁ??
is connected across the primary coil. the secondary voltage?
210-024-I-(Essay Type)-108000 ON
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which among the following radiations has more penetrating power : - .;.upugfé}dfvd&(c,ui A8k soar |1 -1
An alpha particle f:gti” (8] A gamma ray wd (B) A beta particle J:’J_@_l?; (A)

All have the same penetrating ability ‘Ldnuﬁ‘?.gqu»&_;}fz_:.n&ﬂ} (D)

The direction of induced emf in a circuit is in * < d Jll L I JK L .‘J// = d/ -l ﬁ' S1 Ay 512
accordance with conservation of :

Charge (L 6L /L L (B) - Mass FL Il Fufl e ()
Energy JWLU?E’J:J“:://(L &1 (D) Momentum J&fﬁu;’ﬁ'ﬁcﬁu'ffi ('""'r (C)
P CA A e A ek

Farsightedness can be corrected by using :

Converging mirror ;:,J/u@./i( (B) Divergir,@«wr@y.ﬁ, 415 (A)
Converging lens e A 6.7 (D) Divelging Tens e A b1 (C)

Wave transfers : (70 {\B\vy gy 8/ J;?' 4514

Velocity $Us (D)  Wavelength Eﬁf_’{: (C) ncy ﬁ:g } (B) Energy &./! (A)
We can see sound waves by using : / @ S = {: g I i1% (" D
Stethoscope ...:.«}a w. (D) Oscilloscope /.\._ﬂﬁ(%g C) Telescope _!,CJ: (B) Microscope b‘:d’cﬁf L (A)
Which is an example of longitudinal ' ) = Je d/ g JS;}-;:’ 6
Water waves J{’:J Jt (D) Rad] s s394 (C) Light waves );’;Jlfu (B) Sound waves s k5L (A)

. W . y £ s ,J/ e 3

In case of simple pendulum which component of . 4.,1:‘)? 1B I LK is :«Jr‘J’)u:;uL/ 7

weight acts as restoring force :
mg cosec € (D) mgsec 6 (C) mg cos € (B) mg sin@ (A)

A positive electric charge : Le i Ll ..f/'g f :?.J{.’ .,ﬁ 8
Repels other positive charge q.t'/ 5:/ Lulkiy (B)  Attracts other positive charge i-.t‘fuy’? Colesziy (A)
Repels a neutral charge ‘:'—‘7/ C;’u( Zy/gdz‘xl (D)  Attracts a neutral charge ﬁ;tfﬂ Zy;,l.gJ/’xI (C)

Which of the following quantity is not - &n‘ u:'.( J". & A § u:( e J_f PO L uig/; J L')j’/ 9

changed during refraction of light :
Its speed é.*;JJ I (B) Its direction =S (A)
Its frequency 6‘*,{/&; I (D) Its wavelength p’%’:gfu’ I (C)

AND gate can be formed by using two : :c“_G’C nJ‘b &.;.&5!’ Jf _b;" el ¥ u_‘f db;‘l J"'f » e u:( 10
NOR gates u”“{t (D) NAND gates u{fkf (C) OR gates u”'{T (B) NOT gates u’*{bt (A)
What s the power rating of © sfit 2/ 2.5A e STEE T Sl A L e S 12V |11

lamp connected to 12 V source when it carries 2.5 A current :
60W (D) 30w (C) 14.5W (B) 4.8W (A)

The brain of any computer system is : - (74 &LJ ¥ {}/ /',:g.{ u‘{ J( 12
Control unit &2 (D) Memory Sus= (C) C.P.U #du (B)  Monitor Zv (A)
211-024-11-(Objective Type)-22250 (7474)
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10 2. Write short answers to any Five (5) questions : : ér..-:,uz/"?zi.pmr (5) &g e Jf il
(i) Define simple harmonic motion. _..é _e/". J gff ..fr‘,'{, J{ (i)

(i) How damping progressively reduces - e Jf f/ 4 997 I 3 &f L ui"!(ﬁ! ué;{j (i)

the amplitude of oscillation?
(iii) What is the difference between cell and battery? e Y LU U i)

(iv) State Coulomb's law. ..Z: Wbk I ¥ ...Jf (iv)
(v) Define electric potential and write its unit. @ Ly K £ - /‘ J J"? J/ﬁi (v)
__é"JL’”Jfgmﬁfd;l/Lfl /‘{ﬂ -k h:’c.—,.d)g)"ﬁc.—d/d"l.?v ,C/*';,LIQ HF 4516 ﬂF (vi)
(vi) Two capacitors of capacitance 6 # F and 12 # F are connected in paraliel with a 12 volt battery.
Find their equivalent capacitance.
(vii) Why do the electric current cannot pass through insulator? "t‘J/ {ﬂ / ..J//al e U~ /-Jr’l (vii)
[

(viii) Define specific resistance and write its unit. & < 6 ...d/’ (,( J,i:} ..,G"’ (viii)
10 3. Write short answers to any Five (5) questiong . Q\O J@LL«’/"ZVUV (5) ég e df
(i) What is meant by intensity of sound? Write its ugi@? ..n’ ¥ U fe sy | V < k5L T Q’J I (i)

' g’,,yt{u",€/¢,6:, Tt 58 Ung 1€ (i)

(ii) Write the audible frequency range of bats e
4 " - 2
(iif) What is meant by echo? Write its o 2 & Ji ..g ¥ U e sy l_..f = C:” (i)

on e U P S iakan S GIE P (iv)

(iv) What is the relation between i
technology and telecommuhi

ELSAT and SATCOM?SUt Z- b/t e sl SATCOM st INTELSAT o T (V)

(vi) What is differenc een hardware and software? e J/ (f S Faddy sl Jsd (Vi)
(vii) How can we find the need of phosphate Ut é/'(’:"" C/)’J( .;w:/u(: U:b:f" 54.14.){_' b{’ﬂ (vii)

fertilizer for a plant?

(viii) How can we monitor the thyroid gland ?uj‘é/” LA ‘/( SEr 2 By e (2 JUI (A (viii)

in the human body?

(V) What do you know a

10 4. Write short answers to any Five (5) questions : : e oty (5) 8 = O
(i) State the laws of refraction of light. q{ /f“ u’ 13 uﬁ( /"/ J Gi;/ (i)

(ii) Describe the types of refiection with diagrarﬁ _é vk (Ul J oasald, 25 L (lf L3 (i)

(iii) How the focal length is related to the radius of curvature? “aub) L/u‘ u" ] bj{-/:_: IJ' A/JJ’EQJ()’ (iii)

(iv) What does magnetic field lines show? Explain. ‘.éJ: e2lay S d/ b (/ /U it u@’o (iv)

(v) Differentiate between step-up and step-down transformer. -5‘5 5 bu/’u: /JW’/C}J')..{,{' 2! _;l.;-_/ (V)

(vi) State the principle of an A.C generator. -5{_-'( Uk Jrl € fP Peam! (Vi)

(vii) Define thermionic emission. -é - /‘." d/ S Jf} (vii)

(viii) Show that the circuit given e QSIS Lo P st oo (viii)

below acts as AND gate. A P—
(2-'0/3) v_:mr—‘v
B

-3

-4



(2)
CPART-IL (n2) (¢ fD D ~24

Note : Attempt any TWO questions. > AN 4 L ely»e Jf O
4 ek Yl e e B by e (W) o5
5. (a) Write down the characteristics of series combination of resistors with circuit diagram.
5 g=10ms™* . .ﬁg‘:((:h"dUJJl -‘Lt'fgf’{}: 28 &/f’b.—gﬂfgubwg (o)

(b) A simple pendulum completes one vibration in two seconds.
Calculate its length, when : g = 10 ms ™2

1,1,1,1 6. (@) Write name of any four parts -é...»u,Juwlé,»tLu%b;d,Z(" u’éww// () -6

of computer based information system and explain them.

5 st £ K e (i S 140 e L5730 SIS 18- (L)
% s L L

(b) Carbon-14 has a half-life of 5730 years. How long will it take for the quantity of carbon-14
in a sample to drop to one-eighth of the initial quantity?

<
4 7. (@) Define nuclear fusion and explain it. -5 ol @/@4/‘." oy A () -1
5 L LE Sl Loipeb5 i e " Yo 2KHz 5 ASys 53f1 ()
O% Syt el

it take to travel 1.5 km?

(b) A sound wave has a frequency of 2 KHz %?gength of 35 cm. How long will

211-024-1-(Essay Type)-89000 @
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The half life of a certain isotope is : dfﬁwﬁ/‘(fv;r‘/fd lp!Li_,/}‘/dw -§__u:ngUJgd/.,;f/Tgffyvp 1-1
one day. What is the quantity of the isotope after two days :

One —sixteenth Y| (D) One-eighth ) (C) One-quarter (6% {1 (B) One-half (Z_bx 7 (A)
The brain of any computer system is : P e Ehs fﬁ/ /ig_-.f.{ <& Lf 2

Control unit ._*jz’dj}’/ (D) cpPu géu’ (C)  Memory $»< (B) Monitor <+ (A)
The particles emitted from a hot cathode surface are called : @ (¢ A_M U)’Z//lac;i/d/ :ﬂ'}/}){’/tc’,! 3
Electrons ‘/'3/5? I (D) Protons /!5/ (C) Negative ions * Léﬂ Positive ions / l;:,;g{’ (A)

O < & . z
If the current in a igfu’;éfpd‘}L/&/’)Y&?szg’ﬂJ&fL’ .ec&é):}bdx(f:bfufi&’ ..@g‘ﬁ 4

wire which is placed perpendicular to a magnetic field increases, the forde-on the wire :
Will be zero Jﬂf*" (D) Remains the same d/:'zﬂg)f + (C), Q«S@/é)a%es Jﬂﬂ/ (B) Increases d/&‘/. (A)
What is the power rating of a : nl‘u,‘{_*/'/Z.SA e s Sf;gc;&,ggf*{,gégmcwimv 5

lamp connected to a 12V source when it carries 2.5

<ls 4.8 W (D) 21y 14.5 3 <13 30W (B) 21 60W (A)
Capacitance is defined as : R O o (3(7 d/ LA U .gj/? d/ u’f@u—\f 6
%2 D N §7 (C) Qv (B) VC (A)
The index of refraction depenﬂ@: re by L/ AFH K u;g// 7 Jgﬁ:! 7
The image distance /J-"GJ: Zf I (B) The object distance {J#GLI/)‘ (A)
The speed of light ~ z4¥ JU?J (D) The focal length 4»@{)( 2 (C)
How does sound travel from its source to your ear : te fﬁf d_./ o __:JT &L {’) Ly w lic #5018
By vibration in wire or string :.ﬁ/ ';J $ss5lut (B) By change in air pressure c:”»d/ J; A,/'U'.f'ilgﬁ’ﬂ (A)
By infrared waves cf‘»gJ),fséﬂ/’" (D) By electromagnetic waves &}4&74_’:.@%}?’ (©)

When water waves enters the region of shallow water : p’%’u{cj ’?UZ Jﬁgﬁ)ufc‘_}L’)def {j,fjd/ d&...) 9

their wave length :
Decreases i:.d{oﬁ,f (D) Increases r"_.,dlgm‘/. (C) Become zero gdbﬂ/’ (B) Remain same LL(;'ZJJ‘) (A)

Intensity of sound of lawn mower : P WYL d/ k5L d/ u‘f‘ Gy 2 ¥ Jlf 10
108 wm > (D) 107 Wm ™% (C) 107 wm™ (B) 10' wm™ (A)

Half life of Cobalt 59 Co is : te I §Co NS |11
Jb 40 years (D) JU 30years (C)  Ji 12.3years (B) Ji- 2.85 years (A)

Power of hair dryer is : ~ fe J A3 #12
<15 1000 watts (D) s 800 watts (C) 215 1200 watts (B) /s 1500 watts (A)

210-023-I-(Objective Type)-29500 (7471)
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10 2. Write short answers to any Five (5) questions : : é@&l_e/‘"’z.:awy (5) ég & Jf -2
(1) What are two components of CRO? e o &L CRO (i)
(i) Draw a labelled diagram of Ball and Bowi System. - elﬁlj J{" J (L‘/ Jﬁ 4! JL (i)
(iii) State the laws of refraction of light. ' -gf Jk u.f L u:"g// J [53:/ (iii)
(iv) Whatis restoring force? Give an example. w3 Je fe ‘5‘/ JJ” 152, (iv)
(V) Define electromagnetic waves, with an example. _.'é £ L Je ..g//‘.’. é/ Jz:u@‘gfbg F(v)
(vi) What is electron gun? . ‘e (;'/ uf u,}g I (vi)
(vii) Differentiate between convex and concave mirrors. -é 5 ly J} e L ;ﬁ ! J:(/ (vii)
(viii() What is meant by critical angle? Draw its diagram. - Jﬁ' fe ol kr & ﬁf *f (viii)
10 3. Write short answers to any Five (5) questions : ! g@&&/‘*&gﬂ'f (5) é& e Jf i
(i) Define loudness of sound. Ry P ST oedil (i)
(i) What is meant by intensity level of sound? .24 <Y Sl ?+:VQ/GJ£M$£}5V (ii)
What is its S| unit? o
(iii) Define capacitor and write its formula. 24 Uil 8 1 sl é - P d/ ’r‘jf (iii)
(iv) Draw the label diagram of electroscope. b l/f_l,i} J""j d/ ?}CJ;'?’ (iv)
(V) Which instrument is used to observe sound waves? fe_ tw Je=i ) .’f_t:( d{ s s };_’: £ (v)
(Vi) What is meant by primary memory? (© e :1//[.;r = S d/’{ (vi)
(Vii) Whatis ATM? Also write its any one advantage. 5 /x§ 246 ..{,4 35 g ?;.g’ ATM  (vii)
(viii) What s Electronic Mail (E-Mail)? Also write its one b {\\9.‘&’_6 056 L1 3 K e JLG (i)
10 4. Write short answers to any Five (5) questions - : a2 L oy (5) ég 4 4

(ii) Describe Fleming's left hand rule to i Ll L/}nyw?drt(i‘tuf WL (i)

direction of force. .
(iii) Differentiate between direct ¢ nd alternating current. &b Gt/ _.Cfvﬂ u,l._:j/_ugj'j (iii)
iand artificial radioactivity. &l gj/.u:&/g. bS5 Sk S0 (iv)

(i) What is mutual induction? @ fe U {:f u:C‘»/’ Jas (i)
ot

a\

(iv) Differentiate between natufal:

(V) What is cosmic radiations?” Give examples. sy u'i'@' S sl = ‘/'?-'ld,fg/ SLalS (v)

] o a b L .‘./ - .* &-ﬁ :
(Vi) How potential difference can be measured? ?4_ dlg J d_/ u" [ J gﬁ/;d”%’ (vi)
(Vi) How may watt hours in 1000 joules? V.S 7Y :i e 7% 1000 (vii)
(viii) What is ionization? What is its power? L= O t[ s\ d/ V! e Y “U/ T T (viii)

‘ (PART-II s .o )
Note : Attempt any TWO questions. ey latrne 3 o

5. (a) Whatis prism?-_é.g’_ffgfﬁ!dg}_ﬁﬂ!)i -g-’.’c,quu@;.yu,J E.'JL&%JJ:(){ ‘.’{.'..t‘ng(}{ () .5

12,7 Explain with diagram the path of light through the prism. Also define angle of deviation.
5 WUnodd g Ly o 495 Lavhi bl ibe 0.99mIUS B (L)

(b) A pendulum of length 0.99m is taken to the moon by an astronaut. The period of the pendulum
is 4.95. What is the value of 'g' on the surface of the moon?

4 6. (a) Explain the electrostatic by example -"é ..vL‘aJJf ik v@)}g 'c..udlﬁ_{;g 311" u@":}g I (&) -6
of electrostatic powder spray painting. P o .

5 (b) If at Anarkali Bazaar Lahore intensity?d/ﬁgﬁgfﬁflzgj %% 80 dB s ﬁ(ﬁflxgﬂﬂi@ggt’/’ ()
level of sound is 80 dB, what will be the intensity of sound there?

4 7. (a) Whatis meant by Half Life? Explain with the -é.:)l}:d"( JJ !c.ud/...i'/ g-.:ylfc._.ifvdg ()7
help of graph.

5 IR AL oy (S 1L 20V ,U?fd/f{ﬁ -<1:100 agﬁJu,/éu:ﬂw'u‘?L,}.,{f knwrd

(b) A step-up transformer has a turn ratio 1:100. An alternating supply of _g‘;r(;"” (Vs) Z-%:M?
20V is connected across the primary coil. What is the secondary voltage?
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Z_..«b?.:.wuc_..u:u:]ll‘vé‘ié..)&v&:dfr/;/”d(d’& _q.?c’“fé_)D »nCcBcA ;—@‘ﬁ;@gédl}’/{ 2 ot
_Km;"’wvmwfzu:om&,ﬁ Sk L L/Oii{)u’bupc;..g -ﬁ')ﬂc@géﬁtﬁjbwawf
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The loudness of a sound is most closely related to its : re by Lf( Aﬂfl 7 ol 4 Jsﬁﬂ d/ 2301 -1
Amplitude 3% uf,'{’ (D) Wavelength JQ{J (C) Period 4 (B) Frequency u" ;.-( / (A)
Capacitance is defined as : rR, 3&: St -7 g Jffu.; 2
ViQ (D) Qv (C) Q/V (B) VC (A)

What happens to the intensity or c‘-t‘ZJ/Q/{aiJU:}/JU'LL/Q D!uf:u;"(fu;ftfé’:g}ﬁc,@)z/j 3
the brightness of the lamps connected in series as more and more lamps are added :

Decreases c;.&yzof (B) Increases e tnalsl (A)
Cannot be predicted ‘gJﬁ” t& (D) Remains the Asgr@\t\“{u.?@f&/ (C)
Speed of light in water is : @ \: ‘LL}}’:' Ax J [f:;/ - G& 4
20x10%ms ' (@) 2.5x10°ms™ (©)  3.0x0°msZ\\B)  2.3x10%ms ™ ()
When did Graham Bell make a simple telephone : @ </Vt ¥ Lk _«f U}’Jf sl o Jfﬁ l/f 5
1867 (D) 1870 (C) 6%2%386 (B) 1876 (A)
Image formed by a camera is : /@(\U// e G oy < Gz U‘{ 6

Virtual, upright and diminished é:{:fzculf ? ’O (B) Real, inverted and diminished é:fogf.mﬁj (P (A)
Real, inverted and magnified d?@?@""gfv (D) Virtual, upright and magnified d‘/.:/g’.m(fgtgj’;;u (C)
Which of the following is not proc&\‘s\ﬁw)g 2 fe Uj jf}{ Jf L u[ 7
Gathering £/ (&1 (D) Caleulating b/.,«CQ,L? (C) Manipulating t./352 (B) Arranging & "7 (A)

The number of neutrons in a Uranium ZSSU Ic‘;.)f/.;jd/ Il e .,;;jf'u’ | ke 2S§ U ,iﬁLﬁKf:ﬁjg 8
isotope are : ’ .
330 (D) 238 (C) 146 (B) 92 (A)

The process by which electrons are emitted by a hot metal 19?%@':1‘6;(&’/3}? 'c.i?/g(d’:gﬁgfzﬁ’ag ALl
surface is known as :

Thermionic emission u%ih.ff/"; (D) Conduction f 4 (C) Evaporation ‘:/J::'/}_f.)’ (B) Boiling Sy (A)

When a heavy nucleus splits into two lighter nuclei, the ;wa?%m,':’uﬁdyg;éi.;{»u':{ﬁdjwv{!_ﬁ 10
process would be :

Absorb nuclear energy Jnuwd/’;‘(;x (B)  Release nuclear energy Jﬁ@/l}&)if{xﬁ (A)
Absorb chemical energy Jﬁ_‘/l?(ﬁ/'l&‘{ (D)  Release chemical energy Jﬁ@/@&ﬂﬂ (C)

A device which convert mechanical energy into electrical - b 2 ST &)!gﬁ.}gfirﬁf”mﬁ-} |11
energy is called :

Electroscope _;:C;/@l (D) Transformer £,/ (C) D.C. motor /»53 (B) A.C. generator z 25! (A)

Which part of D.C motor reverses c‘;EJ/JifMJ&/(L bcbia,u.fgﬁfu’éi L)?V&.J/;.A’ LJfK}rde 12
the direction of current through the coil every half cycle :

Slip rings /g.;v (D) Brushes (C) Commutator ;f::{ (B) Armature /?;T (A)
211-023-ll-(Objective Type)-25000 (7472)
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10 2. Write short answers to any Five (5) questions : uy/"&..mr (5) ét . Jf -
(i) Write the two important features of simple harmonic motion. - ..A-lr“’ f Jas (57 GIJJV.{F/QJ’/ (i)
(i) What is meant by damped oscillations? "L ek V = ¢ ! M: (ii)
(iii) What is restoring force? Give an example. i JV e Lf u‘u’ ..f/// (iii)
(iv) Show the types of reflection with diagram. - - (’/U: 2ok U Ju.uid.s (iv)
(v) Define Snell's law. Write its formula. -zﬁu/ B & 1 sl c{ J/ J wiE L Jx (v)
(vi) What is meant by digitization? S ol V< f/l/ -3 (Vi)
(vii) Write the symbol and truth table for NOT gate. -&7 f £/ A‘ =l J J <L (Vi)
(viil) Explain the deflection of electrons by electric field. -g_fzj_ué,&_f/‘j I o9 d/ oS 185 J /3/6 I (viii)
10 3. Write short answers to any Five (5) questions : J...w/[....mr (5) ét e J:( -d
(i) Define quality of sound. c‘f J/‘ J 23 AT u"bf (i)
(ii) Calcutate the sound intensity level of rustling of leaves. -é(}l"‘ Jr’ u.mu.u\,c:l/ﬂ./ //J J% (i)
(iii) Define electric field intensity. = J/ d/ s b J/U )

(iv) In what direction will a positively charged "Ké../':.f/d“ J‘( @@ya}/@;brn’u’ JJUJ/‘U o (iv)

particle move in an electirc field?
(v) Draw the electric filed lines for two oppositely and T /5 g ZJ bw!ju’svm._,w’tfu (v)
o,

equal point charges.

(Vi) Write name of the components of cumputer based 0 tL u’i:rféf/ g_/"/bfur‘/:'f (vi)
information system.

(vii) Why optical fibre is more useful too! for the ()‘c.uf/,a’u/ Pt by nu"(’u’“gf (vii)
communication process?

(viii) What is the difference between com nd flopy disk? "ad/b’/u*uc,v(é l}le;M (viii)

10 4. Write short answers to any Five uestlons LL?/"?L..,UV (5) ét . Jf <4

(i) Define naturai radioactivity \\ -é - /’ J (5 r“( Iy ks J/

(ii) Write working princip = ctric motor. &b J i ¥ it ( L H J/G’ (u)

(iii) What is difference'between ohmic and non-ohmic materials? "c.d/lfu")/..ﬁ'ﬂutuf.ﬁ)l (iii)

(iv) State Joule's law. Write its equation. é = lsls d/ J! _5’;.( Yk UIE K J;Z (iv)

(V) What is Cosmic radiations? Give examples. 4’; ugl"’/ fe olr b Vo~ /:' IS4 SaslS (V)

(vi) Can a transformer operate on D.C? fe Lﬁ/r (K ¢ (D.C) ¥ U3 A/ t/ (vi)

(Vi) What is Lenz's law? | - Uk Ui ¥ A (i)

(viii) Write two isotopes of hydrogen. _av J.'ir‘i » L Ju,vL (viii)

( PART-1I (92 )
Note : Attempt any TWO questions. f 4 ez £ ey » e & u

4 5. (a) Explain the two types of mechanical waves -:’:c.quf/UJwb)JfU‘»d/d)M () -5
with diagram.

5 qffufpﬂf;&/ ..c_.u'/ 5cm éLJ/C J‘/z..m..// 10 cm &L //‘/’// ()

(b) An object 10 cm in front of convex mirror fonns an image 5 cm behind the mirror.
What is the focal length of the mirror?

4 6. (a) Whatis flow of information? Explain -é:)&)&j '2—/51—‘# TL;’/JL?V&%W () -6
it with diagram.

5 - Tund £ 4268 0.4m 2o —c 0.8N Jzi&f‘{)b‘»&]ﬁrd&.f I (&)

(b) The force of repulsion between two identical posmve charges is 0.8N, when the charges
are 0.1m apart. Find the value of each charge.

1,1,2 RTINS 2 IR L u(u’w_//f,yL/ Sy kB (L

7. (a) Define an electromagnet. ‘Make the relay switch circuit diagram and discuss the
electromagnet role in this case.

5 ¢z tons 3L LIS 60- 2N 26 — b 5.25 1 60-2 5L 1y (L)

(b) Cobait-60 is a radioactive element with half life of 5. 25 years. What fraction of the original
sample will be left after 26 years?

211-023-li-(Essay Type)-100000
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Loirerne Sk s vl 38017 -t ED 51 C B A ezl vy i 2
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Note . Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will resuit in zero mark in that question.

The instrument used to detect the nature of charge is : : (& ?ng,b’&u?r;,( Z'/J_'[.:{f)’d?zt—,u‘;‘,ﬂn} T -1
Electroscope .;:Q/’g I (B) Stroboscope 7:6!3 7 (A)
Microscope ..r;y/..cft (D) Spectroscope .7;;/‘?‘7 (C)

How many components a CBIS has : e b S S e u? & cais |2
Six # (D) Five &4 (C) Three £ (B) Two » (A)

The output of NAND gate is written as : : ‘.‘.‘.-t'kng/)d’)c.‘{,b‘rf e nanp|3
X=4.B (D) X=A.B (C) X=A-B (B)@@ X=A+B (A)

For a normal person, audible frequency range for c_:mJ A3 L/JlercJ.[.d: l(l;.fl 4

sound wave lies between :

30Hz - 30KHz (D) 25Hz - 25KHz (C) ZOijQé%bRHZ (B) 10Hz - 10KHz (A)

AND gates can be formed by using two : g s T yw/’dwgf sef |5
NOT gates u‘f t (D) NOR gates u“ft ( 0 gates u‘-{ i (B) NAND gates J"fxa (A)

Release of energy by the sun is du ' ke &S el G 2L J“ J( s |6

Nuclear fusion Nuclear fission S /-.Kx (A)

Burning of gases &L~ (C)

Chemical reactio 0

An object is 14 cm in front Ic‘;gﬁgf;’&/ -4}.8%(5.8;?}2://@ -9'24#51{142_V£//‘/§i?{.g 7

of a convex mirror. The image is 5.8 cm behind the mirror. What is the focal length of the mirror :

¢ -20cm (D) ¢ -9.9cm (C) ¢ -8.2cm (B) ¢ -4.1cm (A)
One watt is equal to : tee 4z 2l 1|8
Sec (D) J (C) JS~' (B) JS (A)

Michael Faraday belonged to : : F Jw ¥ ;:’!;}J?L 9
Russia Uy (D)  KSA o/ (C) USA .£ /! (B) British .:bs (A)
Charge on alpha particle is : - O 4 Jf’;g @10

5e (D) 4e (C) 3e (B) 2e (A)

Which of the following characteristics of a wave : Jnd}’?ayﬁd/»wﬁduf@;autdwp 11
is independent of the others :

Wavelength 557, (D) Amplitude 525 (C)  Frequency W™/ (B) Speed 4r (A)

What does the term e-mail stand for : e KU JLgi]12
Electronic mail J<ut1/51 (B) Emergency mail JSU 41 (A)
External mail  J<J#41 (D)  Extra mail BTN

210-022-I-(Objective Type)-27500 (7475)
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10 2. Write short answers to any Five (§) questions : : Jakmfﬁaulr (5) 65 - Jf - |
(i) What is the cause of flow of current in electrolytes? fe gf 17 L asf L u""U:}g' (i)
(i) State Ohm's law and write its equation. & o J J1 g‘;': ke UIF ¥ (o (i)
(iii) Can magnetic poles be separated? How? ?4( T« Ve b l[ g S ){j.@g y’ (iii)

(iv) What is right hand rule to determine- 29 Js157 94 bg’.ﬁé./(:“’ofu(/"gu@?ﬁ‘ﬁﬁbf.&fup (iv)
the magnetic poles of a current carrying coil?
(v) Write working principle of electric motor. 2 ey S 41 L v 9 ()

(vi) Is it possible for an element to have different -gf! =2 los YUZZE!"L(J L M*"Lﬁuﬁy/ (Vi)
types of atoms? Explain. :
(vii) Give two examples of the production of radioisotopes. &= ufc’u % d/ b uii/’c’gé/ (vii)

(viii) Find the number of protons and -5{(}’”)%"@( ’/'3/3‘:/3"/';34‘/.'."4 f%&f_ lg X _'-/w:':ﬂi’gyi (viii)
neutrons in the nuclide defined by ]g X. @ 2/
10 3. Write short answers to any Five (5) questions :@O : a2 2 Uy (5) ég edf .3
@ ) . P .
(i) Define loudness. On what factors does the loudn .q...t';q;)’ ffuguﬂKu' [ -{;r -/ /"Judii v (i)

sound depend?
(i) Define sound waves and write an exar'r/\p;@%S & Je Ll & -7 S gs k30 (i)
(iii) Enlist four uses of capacitors. ,,«Qp- -g;’f Wx & J Jla?fl /Lo L ‘/{ (i)
i %ation. oo S S E i &Y ()
(v) Define internet and wri ervices of internet. -_.é ,/f" AW 3 J J! 2 “é ...9,‘/‘7 d/ A (V)
(vi) What is the differe%tween RAM and ROM memories? fe O Uk St (3 2l s (vi)
(vii) Calculate the frequencyofa -» 0.5 m i%’ml 340 ms_l,u:{d/fcfk.é rg{(}“’d'&;g/.({gf:ﬁfv (vii)

sound wave of speed 340 ms~' and wavelength 0.5 m.

(iv) Define coulomb's law and

(viii) What are Browsers? Give their two examples. -é: u-‘-Jt"? 2 J J1i314 ?c‘:.. sl l;" & s34 (viii)

10 4. Write short answers to any Five (5) questions : : Jawﬁif...amr (5) ég P Jf -4
(i) What is meant by diffraction of waves? T iy Y e Jfs ST ﬂ/;‘ (i)
(ii) Define spring constant and write its formula. 2y ¥ J1 2 g‘;: .g/"" d/ LA fg (ii)
(iii) Describe the conditions for total internal reflection. _é{ vk Bﬁ' J ses, J/"’ J} (iii)

(iv) Differentiate between core and cladding of an optical fibre. -_é ULfJ/u: £ fg‘ 3! de//r’ Gﬂf (iv)
(V) What is meant by near point of eye? ?‘.' Ay l:f & _/,.} b L fl' (V)
(vi) How the filament is heated in an () ?ujlfr/u:f:(] [ ?u.?;-/,(’fé:.i/fwlﬁgj:.:}ﬁk)’ (vi)
oscilloscope and why it is heated? (reason). ,
(vii) Draw the symbolic diagram of 'OR' gate and write P SEAIES !/51’4__&,"/.[,'5..6 s g2 "OR" (vii)
down its truth table.
(viiy 1f S =2Hzgng A=0.2m _Eetpfinigy A=02m )= 2Hz Ji (viii)
then calculate the speed and time period?

( i’J» )



1,3

1,3

3,2

2,2

3,2

(2)
| ( PART-II (9 2 )
Note : >=oiun any TWO questions. -&‘ AR Ly ne m\ JER
o bs§id LGS S P B () 28
5. (a) What _m m*mo:.o_.:mm:m:o _aacﬂ_o:o Explain it 2_5 activity.

s C‘lﬂ\rﬁa\_\ -&3 r\.erth\L\tqQ»th._h CCWQ‘.&\CQ\QJ#(W A(v

(b) Ashes from a campfire deep in a cave show carbon-14 activity of only one-eighth
the activity of fresh wood. How long ago was that campfire made?

@%@C#ﬁ&\h%i@h\?tﬂ(ﬂwr\cu&w(@\u\@‘ (=) -6

nf\ . .
6. (a) Explain the electrostatic 5\6@65 of electrostatic powder spray painting.

‘mﬂ%\m\.ﬂ.\_\@w@%xée‘m‘@.\.\a&gat‘.«%&E
(b) A doctor counts 72 heartbeats 3«@2::6. Calculate the frequency and period of
the heartbeats. 0% o

-mw\s\c\h @_\? -N%t%\?h{“n}_rt\ () .7

7. (@) Indicate the objects of cathode ray oscillosc Show its different parts with diagram.

-¢-4.9s Lok ‘P?\ £be0.99 m QLS ALl (O
¥ e A.Q\\t\r\ba\m\m\cwv

tronaut. The period of the

%o:..v

(b) A pendulum of length 0.99 m is taken to the moon by
pendulum is 4.9 s. What is the value of 'g' on the surface

210-022-1-(Essay Type)-110000
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L...J?../uc_.u'u’/’)Zc,x:.t«CJ'r//dKQL? -u"Zc..:D »#CeBA uL’f/@b&J’f/ <7
AR I S o) L/Juuuup;,.,{ s e S\ S A 3 e

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more cqrcles will result in zero mark in that question.

Wh@'w \ following radiations has more penetrating power : ao)twt.ﬁﬂf Jg/ =~ /" !u’,uJ' il -1
- Alpha particle J{’JLU’ (B) \ Gamma rays 4)1/..( (A)

|| have same eS¢ J(U (D) Beta particle J?:QL? (C)
e Jo P |2

: e ey K g § N3
w \Wm® (C) Wm™' (B) W (A
,Ks time period will be : : (beﬁ@m& 2/ LC:I&UJH:&.?/,! 4

=" ) 3 © b@ N2 T ()
A current of 3A is flowing through a wire for one LWJ s _abf...r/ AU e Lle 1 L1|5

minute. What is charge in wire :

20C (D) 180x107C (0{) 180 C ( 3C (A)
: J-C/u}u:u:V):Jé/ﬂd»‘»@u{’(zc;a&ﬁwf;ud/ﬁfv 6

same loudness and pitch is called :

The characteristic of sound by which
we can distinguish between two so

Intensity _Lwia®) (D) (\Lbudness J# 33 (C) Quality G’jl:'/ (B) Pitch & (A)
The number of protons in 238U are : : J by - 238 7

2 (D) 196 (C) 238 (B) 146 (A)
e A e Viize $56 12V BN dt -t 6 HF 12 HF A\ sE T 40 (8

Two capacitors of capacitance 12 pF" and 6 4F are connected in parallel with 12 V battery,
the equivalent capacitance is :

18 4F (D) 1.2 4F () 12 uF () 6 #F(A)
The image formed by concave mirror is : SARLL & i ZC( 9
Real and virtual J}.’,J}A'Jf} (D) Realor virtual J,:;/J L J:,J (C) Virtual J’;’,A (B) Real Jf; (A)
Boolean expression for NAND gate is : e ok w‘-'):f d/ J % 110

X=A+B D) x=4+8 (C) X= A.B (B) X= AB (A

What is the voltage across a3 : « tx AL Fin 1l trle /¥ 6A cae Ul 39 (1|11
resistor when 6A of current passes through it :

2V (D) 18V (C) 9V (B) 36V (A)
Number of components of computer based information system is : : ‘a)’/.;’]!flzlé:("/ u%ta?hi:t/',:gf 12
6 (D) 5 (C) 4 (B) 3 (A

211-022-11-(Objective Type)-22500 (7474)



( 2020-2022 £ 2018-2020 XU ) () &35 s emmeeeemmemmeammmaem A

PHYSICS (Uso) - 022 oS5
Paper : I1 (Essay Type) (.7.,:/’; fr02) (b alaa) IT ¢ 2y
Time Allowed : 1.45 hours 145
.. LiR-63-22 =
Maximum Marks : 48 48 /.U/
( PART-1 Uil ) .
10 2. Write short answers to any Five (5) questions : : a’.-.«uz/’L.;my (5) ég e Jf -2
(i) Define electric power and write the name of its unit. -é(t(..‘igj Lu’ waf! - /‘."Jug..f/'g ()]

(i) Define specific resistance and write its formula also. -é d’:uwli(u’ 1 ;-2."_( - /‘U u""///..@{ (i)
(i) Write equation of equivalent &bt/ Use i SUE A bl et NS T T (1)

resistance of a parallel combination of resistors and draw its circuit diagram.

(iv) Define transformer and write its principle. e ’:’f( KeSL Jr'!J; /:-’c{ - }."J 217 (iv)
(V) Write two factors which affects induced e.m.f. -5{ FNsd s d s a1 2 BIEIS 1A K (V)
(Vi) How the magnetic force acting on a . & )’»éi.lp‘/.fw;’.@g JI:L/J‘;'/’U/!)/..‘/‘/ (vi)
current carrying wire can be increased? Write two methods.
(vii) What is meant by background radiations, write _& JU(‘).Q ?§.J|/y’c.. ft!dézﬁil/ug (vii)
an example also. e . )
(viii) Write two characteristics of beta particles. ?K% Wy /:«y/’ug;/b-?z'l;tf (viii)
e
ooy
10 3. Write short answers to any Five (5) questions : < O@a&'ﬁ/’la”'f (5) ég e Jf -3
il .
(i) What is the necessary condition for the production of O% }ﬂda/w KL;UJUng Lﬁ,g.}:ﬂ/ (i)
sound? -, =
(i) On what factors does the loudness of sound . Q".b‘ﬂ{J ffdguﬂﬁj‘ﬁl} &3 (i)

(iii) What is unit of loudness and defineit. - éo\ -é...é,/ lﬁ?c_brﬁ:'fu“".ﬁﬂ (iii)
g 2&// : o

O f
rite ?g.gqu‘u,séggwimf@?;?ls/,.){ (iv)

ic field and electric intensity? ?%)ygfc._ Cfﬁzf.f/’g u,j},k‘J/’? I (V)
quantity? Whatwill  Snferiie A S i SO M)

(iv) State Coulomb's law of electrostati
its mathematical form.
(V) What is meant by the te
N\
(vi) Is electric intensity a
be its direction.

(vii) Contrast between hardware and software. Y‘aJ/'Q@.Lﬂ:L /:’:_";’Lz»‘/:’,ﬁzg (vii)
(viii) Which two types of waves are used in modern 4 JﬂJW’luﬁ u?‘g}f‘f.w,eug ),iw(f:c: (viii)
telecommunication? .
10 4. Write short answers to any Five (5) questions : : é’.-,yz/’z.-.mr (5) ég & Jf -4
(i) With the help of Y ﬁwuﬁJ&j!J’%m,@K{;wﬁwﬁ" j/,utr_.uu((lfys.p (i)

diagram show the kinetic and potential energy values at different positions in mass spring system.
1 ® w» (b & ¢ » os
(i) How damping progressively reduces the amplitude of e d/'?/d._/ fyur.f»f U%’Ld':’d')f ._@.‘.: (i)
oscillation?
(iii) What is nature of image formed by the plane mirror? ?‘gg’;,{iJ 5 ’2..’52"__4.4/@%'.,9 (i)

(iv) Why the focal length of convex mirror is taken negative? ?‘Lélgdu}[ ’?gﬁgf ig,C/‘f-r/.._Cf (iv)

(v) What is difference between principal axis and pricnipal focus? ?4.. J/l,;rui' g// }J-.-){/ﬂ /,C ’Jr)’{ (v)
(vi) Draw a graph of analogue and digital signals. -’4.-L'«.Jl/" b’/“q):f: SJ;I.fU{zJ (vi)
(Vi) Draw circuit diagram of OR operation and AND operation. -2,&(‘/@’5..‘)};{024 Tk‘/!'ﬁ{f JT (vii)
(viii) Make the truth table of OR gate. _e L AL (viil)

(Zﬂ—’ J/J )



Note : Attempt any TWO questions.

3,1

(2)
(PART-II (5 = )
L ez ety »e (3)( JOY
e e E AL P S S ) (D) -5
5. (a) Whatis em.f.? Explain the method to measure e.m.f. with diagram.
u.‘.'J;/&/'{ﬁ.f.ﬂO Y (Vp)éjs:d/q-:. 100 : 1 &JJU)/CJ/JW]/*U;’;J\-G (&)
,gfp"’._f/u*dlfduﬂ:fr 1.0 mA &/

(b) A step-down transformer has a turns ratio 100:1. An ac voltage of amplitude 170 V is applied
to the primary. [f the current in the primary is 1.0 mA, what is the current in the secondary?

i : & 'b * o5 P b .
e Uie 3 S E np ¥ S USHFL G AT A ST () -6
6. (a) How optical fibres are used as channel of transmission of light signals?
Explain it with diagram.

J!a#ﬁ:sﬁﬂ/@;?.ﬂl IOO.UCI/I -91041/ &EJJ’%{&J{‘@‘;AO&?J}QI (._/)
e K TSl

(b) The electric potential at a point in an electric field is 104V I '«- s/ of 1004C

_ is brought from infi nuty to this point, what would be thg of work done on it?

J,»Jngfwg{m‘.f&ijij/f @%/;ﬁJVJ:IZJ/JJKJnQJf () -7
..c_w‘ﬂ/wf&ﬂ-c.dr

wrth exampie that mass attached to spring
s label diagram.

‘8 emESIWSHA < acm dead i ()
'_zlf(#ypmu‘%;;

(b). An object 4 cm high is placed at a distance of 12 cm from a convex lens of
focal length 8 cm. Calculate the position and size of the image.

7.(a) Define.simple harmonic motion and ﬁ
shows simple harmonic motion. A!g draw it

JBleiy tobl 12
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Note - Four possibie answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.

Cutting or filling two or more circles will result in zero mark in that question.

12 : A

In alogic gate if X = A . B, then X is " 1" when . i/}!d/ﬂ/? s e J}JX;X=A.B//’J:J/KJUVQU’( 1 -1
A=1andB =1 / B=1sA=1(B) A=00orB=0 / B=0LA=0 (A)
A=1andB=0 / B=0xs A=1(D) A=0andB=1 /B=1.4 A=0 (C)

Let two resistances K| and Ry are :Jnﬂjd;vjl-‘.‘:.y’!izﬂﬁuiu//f Ry st Ry %70, :Jtﬂf/‘ 2

combined in parallel in a circuit, their equivalent resistance will be

1 1 i 1 1
R = i G i = X (A —_— = —— =
¢ R ' , (D) Re=RixRy () R, R i R, B Be=Ri+ R (p)
Release of energy by the sun is due to : : gt/(@{h;(,?./"c,dju/@/r 3
Burning of gases (ekUsr (B) Nuclear fissig uyf:{x (A)
Chemical reaction uigigjz‘f:‘{ (D) Nuciear fugipr Qiﬁk)’;: (C)

When water waves enter the g_,r x dfi A ff/ y W &(9 @(Oc‘ﬁ i dl,‘f f iy u( ';}.L. < |4

region of shallow water, which quantity will change . %

Waveiength o”%’! (D)  Amplitude 5:5&,{’ (C) % eriod ,ng-(/": (B) Frequency u“;-.(/ (A)
U : 7 =
The brain of any computer system is : : ﬁ;.tn(/t;gf’/fg_ﬁgz 5

(o
Disks u"/f (D) Memor/y\p@@@) Monitor £\ (B) CPU #0U (A)

) = " - e
The frequency of ultrasounds is than th D e S o’ J s X3 =l J-l? (j’";g/ U( )ﬁl/'/”! 6
frequency of audible sound waves ;

Less and equa! /.wa([ (D) Equal £z (C) Less f/ (B) Higher s:LJ (A)

The branch of physics which deals with the control of motion of electrons is : ./T'.Jl’:/c’: J:ﬂf:’d/;;'}g (9 é,l?uJJ‘) 7
Electronics in}g' (D) Nuclear physics u"///'.gx (C) Dynamics 'J(i‘//l)’ (B) Mechanics S5 (A)

The defect of vision " Farsightedness " can be P o b Voo 24 J i u’ﬁ A2 ;f;) § =28
corrected with the aid of suitable :

o 6 L ) of” . s of (o
Double concave lens % g“{,k: (D) Convex mlrrorz/kfgf {C) Convex lens /’ﬂ..’gfgf (B) Concave lens /f {U/ (A)

2 roy i glans 2 ncrdent on + Cesiotz e Kt SRS St s Je pic
arayin glass is incident on U sty en FUIE u‘ﬁﬁbu’u/z..f C/b/lc.,ud/lﬂc./..g&&/c,uf/f 9
air surface at an angle greater than critical angle, the ray will

Diffract c,gﬂ} (B) Reflect only 2 (A)

, _ e E P s

Partially refract and partially reflect IR BN /.’./m{ (D) Refract only <4 2,37 (C)

In houses consumption of electric energy is measured in : cj..[}tgdtd/'.‘.ffbg I3t s A u:/f 10
Joule-hoursT.J# (D) Watt-hour -2ty (C) Watts £ 1s (B)  Kilowatt-hour J:T.dJ»K (A)

L 7 das 1Y e - . . =
Five pule of N TV J’""},uyﬂéahwu:‘»uf-c‘; t:;t/_,*ﬁ,dzoz{_fz..@L,Gd/,)‘;,[:uﬁ/@/yé J}f 10111
work is needed to shift 10 C of charge from one place to another, the potential difference between the places is :

05V (D) 10V (C) 5V (B) 2V (A)
The direction of induced e m.f. in a circuit is in : §.L}:¢JLE/Z. u:’é'u’:v/(f..éﬂ-ﬁl-dliﬂgﬁiuf&‘// 12

accordance with conservation of .
Momentum f:l/ (D) Energy 4.1 (C) Charge &/b (B) Mass JL (A)
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10 2. Write short answers to any Five (5) questions : : éapzﬁ?é.-,mr (5) ét = Jf -l
(i) Define wave. véw/"d/!; (i)
(ii) Derive a relation between speed, frequency and wavelength. Zf MV QWM_, m’q}/;fd” )’/ / ,w (i)
(1Y) What is meant by ripple tank? -L’JJ (iii)
(ly) What is meant by loudness of sound? ....)J/Lﬂc;,J'uUJMLf (iv)
{(v) Write two uses of ultrasound. @ S5 ks A (V)
(vi) Define reflection of sound. -éw/JXSV TS5, (vi)
(Vi) Write two characteristics of focus of a concave and a convex mirror. -Z.:';)L/ (J L, P J:'//WK(VII)
(viii) Define mirror formula. Z_/..n// {vaw/ (viif)
10 3. Write short answers to any Five (5) questions : g...«u.?/‘}é.uulr (5) éb = J:( -
(i) Define Coulomb's law. ,éf-u f‘p(ujbé .JJ i
(i) Whatis the difference between variable and fixed type capacitor?. &= ubu/ubwd_J NS N Y] L'"‘Q/; Ul)
{iil) What is meant by damp conditions? H/Ua, U,mw (iii)
(iv) What is the difference between galvanometer and ammeter? Q ‘)LJJ' /ul/‘;’l:"’ {iv)
(V) What is the difference between a cell and a battery? S u/buV/;Ld/~nl (v}
{vi) What do you know about paper capacitor? S {& ?uj:.... g‘;”, Tume. A u,/ v/ {(vi)
(vii) What is armature? @% et el (VD)
(viil) Define electromagnet. % -&‘i:_g/?&/w?yﬁ?i (viii)
10 4. Write short answers to any Five (5} ¢ @ : : d@&fzf?éavfr (5) ét = J:" -4
(1) Write down the symboi of OR gate. - i./Uif_/C i)
(1) What is meant by digitai to an cenverter? ‘;;_:L/ga,//rquk!/ =5 (i)
(i) Name the two factors whi hance thermionic emission.-éfi:g/?tc‘/. AL Lmk:'/u%f.fx,‘/z (i)
(iv) Define telecommunication. i _24:/..4/‘7‘)( V-AM-LQ—\»Q-\KUJ-Q (iv)
(v) Differentiate between RAM and ROM. _&: d&.;})u‘.’(ROM) 7 (RAM) ,ﬂ:/ (v)
(vi} What is meant by cosmic radiation? Cestple JUSE LK (Vi)
(vii) Define nuclear fusion and write its equation. & ul:tffiz)lc{..w/’d(, j:’/}r (vii)
(viil) Write two characteristics of beta radiation. -._//.,u-»%;duﬂdhu (viii)
_ (PART-IT 3 . )
Note : Attempt any TWO questions. & el £ ey » e J;’/
4 5. (a) What is meant by simple harmonic -Z)_/JL&)&J& Hu-ro:t/ )I/Jc;u”ru, O (_,Ji) -5

motion (SHM)’? Explain it with example of srmple pendulum.
J)’J//.LO' :5.66 cm & d..-//cluv Lot 2. '/.1-99534 4 cme ./ u—f‘ (-«)

5 {b) Find the focal length of a mirror that forms an image 5.66 c¢cm behind Y f”r be rJJ/Jc.lf/‘
the mirror of an object placed at 34.4 cm in front of the mirror. Is the mirror concave or convex?

4 6. (a) State Joule's law and derive its mathematical formula Zf,wfur'/bdl)t{ "U:!Z:f..’/u/\_)ib K2 (L) .6
) l_,fvf/'d.,?/bdl u.‘_./CJa,JJ:’U 0.1 N o /»Jau‘d}’@, 2 éﬁb@ Scm 2Zibw (...«)

Two charges repel each other with a force ,.ch'_.éi//é‘ib‘_. 2.cm o é/r;*’”v»’ (w”
of 0.1 N when they are 5 cm apart. Find the force between the same charge\, when thEy are 2 cm apart.

4 7. (a) Explain the use of logic gates as safety alarm. -4":.) WJVL W!A..(/Ll G u”d/u/._ﬁ)’ (2
5 s L2 L S 602 AL 260 JU8.25 50 B0 A Iy L (u)
(b) Cobalt-60 is radioactive element with half-life of 5.25 years.

What fraction of the origina! sampie will be left after 26 years?

210-020-1-(Essay Type)-100000
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” ._/li._/»c.,u’lQ;}lzéL:&LILJ‘V//QKdV --V'YZZZ.)D 4 C'B'A c.'«Uf.‘»@béiJ &

,gr,ré’bkw’?u}ufujﬂoh,.// S| L/JUJ/'»)L/;....{' ‘/{”)/c.,u L/(U//‘JWJ!E/

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct. fill that circle in front of that question with Marker or Pen ink in the answer-book.

Cutting or filiing two or more circtes wiil result in zero mark in that question.

The output of NAND gate is zero . ! /'dﬁO%:A’{fJ{fkj 1 -1
A=1landB=1/B=1sA=1(B) A=0andB=0/B=0, A=0 (A)
Az1orB=1/ B=1A=1({D) A=0o0rB=0 { B=0LA=0 (C)

An electric current in conductor is due to flow of : : é.ﬂxg,(?v&._*}/';’??'uffjt( 2
Negative ion o Tg:“g (B) Positive ion ; Ty'..,s’ (A)
Free electron gp‘f,;'g bisT (D) Positive charge (o s2Jy (C)
Which one is not radioactive element :§. .:' ....w’»J"'? y}i/ 9413
Sodium lﬁ?r (D) Thorium .’f/y’? (C) Poionium ( Uranium ,f,',u; (A)
in a vacuum all eiectromagnetic waves have same : (,? ¢, /fjs’; s}g’u’ffﬁs 4
Wavelength 5”%’: (D) Amplitude 55 ;;t, ) (C) (\g@%uy s :* A Speed iz \A)
Which of the following is not processing : ..f/’:/ fu[ 5
Gathering ¢S (D} Calculating L’/?iﬁ,'»-?/(&@\ﬂanspuia:mg AT 9e (B}  Arranging & 2w 7 {A)
Which is an example of Iengitudinal waves O\f uL/u s f’q’ 6

ot

Water waves Jjys/ (D) Radio wa 235+ {C)  Light waves Jf:0 S+ (B) Sound waves S k3 (A)

The particles emitted from a hot%ag\%)de surface are : : \,ff.Z, Un/,, vl oz fp(;wm /f /%Lr..i 7
Electrons /535./' (D) Protons ;:4 (C) Negative icn o Tr -.g (B) Positive ion o1 4 (A) |
The speed of light in glass is : c;.,./fr‘/d/fuuﬁu’wﬁ 8 |

1.5x10%ns™! (D) 2x10%ms 7t (C) 25x108ms™ (B)  3x10%ms™t (A)
The unit of power of tens is : : ‘;_..,géﬁw}:' g
Volt & (D) Hertz 71 (C) Diopter ~1¢n (B) Meter ~ (A)
On what principle circuit breaker works . : c_.’a/'.:'{/ IS A f Ak
Electric potential i“gu/’jf (B) tiectromagnet ../,‘? /" (A)
Mutual induction u‘i;}-‘-h,ﬁxj' (D) Self induction f,&'u..ﬂ%’ (C) B
1 PF = o o i 2 & L1
107 F (D) 107124 (C) 10777 (B) 10701 (A)

v - {2 7 / - % sl 8 1 g'/’ ~
J’,\-*/"Odbd.-)u % /i31'2._h71,‘.0/i5‘w£_'4‘/:’.., [EA-YT Yo § u,f.../.;i«’_.@?/! 12

If current in w're, which is placed perppndtcuiar to magnetic field increases, the force on the wire :

7
Will be zero wﬁi(D) Remain same o;.wu,v (C) Decreases ¥ (B) Increases Q’ 7 (A)

211-020-11-(Objective Type)-19250 (7474) o
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10 2. Write short answers to any Five (5) questions : > J LL?/"Z.,ULV (5) ét & 8:( il
(i) What are the damped oscillations? "u‘drl//‘{f)w’) (i)
(it) Prove that : v=fA v=fA : cf:u;lr (i)
(iii) Define wave. EEy) § e i)
(iv) Define the intensity of sound. ,é.ﬁf/‘."JM&Jiﬁb (iv)
(V) What do you mean by reverberation? (- )/JLV/(JL (V)
(vi) What are the ultrasonic waves? S dy Lf iy _fyl/’i (vi)
(vii) Define irregular reflection of light. -é—ﬂ/’d _.M)oxbz_.éu’u (vii)
(viii) Define resolving power of an instrument. _éJ/gC:LJ;’://JJ fu’r viii)
10 3. Write short answers to any Five (5) questions : : é..grf/’?:uwr (5) él &= Jf
(i) Define electric field intensity. Also write its unit. -éu)’&z'»’ éJ/JM\»UJ/OI (i)
(i) What do you know about paper capacitor? ?ug._(gk:.‘__, :‘_;:4.41 K¥ (i)
(iil) Describe Ohm's law. . -’q‘{uyuiﬁ'bf[ﬁﬂ (iii)
(iv) Differentiate between direct current and aternating current. -Lf;( ArSy s y@ﬂl;;f..‘.r'/&{}iﬁ (iv)

(v) Define resistivity. Write its formula.

(vi) Write the principie of A.Cgenerator. ﬁ\

js/,lef.ﬁf}d’&;m (v)
S _& i 25t (vi)

JJ?JJ';I.DC}/-&I (vii)
7 éf;vu/u‘/,wvumu/muf../ (viil)
&2 L (5) étc.éf
ST =@t (i)
Ses e JERLEY (i)

-&VAL /u,.f 0 (i)

(vii) Define electromagnetic induction. o)
(vill) Give difference between step up and step down tr

(i) What are logic gates?

(il)) Write down name of four electropi

(iv) Define analogue and digit ronics. J/’Ju’(/"'iywl_@bl (iv)
(v) Write two advantages of e-mail. M:’m_Jﬁdl (v)
(vi) Define nuclear transmutation ) -2f-f‘:/~—§{/JUU/:3.’.UJ’/ﬁ-Kz (vi)
(vii) What is electron volt? Write its relation with joule. -&JJL’J:_J:?KJ!?;. g.duu,}?! {vii)

: , , 0 Wl I
(viii) Write two properties of beta particle ( PART-II (2 ) - ..«.l:ir“’:,d/u’_ 2k (viii)
Note : Attempt any TWO questions. & =L Loely » e (j:( tad
4 5 (a) Prove that motion of a ball in a ball -c,dxJerJ‘LryJJLJ(’U,LmJL.fé_/k () .5

and bowl system is simple harmonic motion.
5 WS NPT N e A RN SRVIY - i ..-¢5D/:LJ/J./(/..U ()

(b) The power of a convex lens is 5D. At what distance the object should be placed from the lens
so that its real and two times larger image is formed.

4 6. (a) Discuss the main features of series combination of ’&J.:f'wr".f: J/'/szg..}ic, 2’../"/ () -6
resistors. ,C
5 ~e bl 1 .6x10719C gemsidoso gt LB En s L IOOyCuAaK..Ju,w[p/ungé Lnc)

(B) The charge of how many negatively charged particles would be equai to 1004C . Assume
charge on one negative particle is 1.6x10" ¢

4 7. (a) Explain the process of thermionic emission in detail. -éugcyu,.g)Ku%‘st} () -7
4 o " ~ 1 : < o
5 Wl L bnff o KLE3LES 1. K e JUBT30 T 14k ()

(b) Carbon-14 has a half life of 5730 years. How long will it take for the quantity of carbon-14 in a
sample to drop to one-eighth of the initial quantity?
P pioone-elg initial quantity 211-020-I1-(Essay Type)-77000
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Maximum Marks : 12 L #2 ’G/ —)6-/9 /’J
L.,a'ﬁ://::—gﬁu’szé. 2L V[_J'V//Qb’db’ -st‘éc..)D 4 CB'A :.L':Z.;‘Zgé:d'rﬁ e

_b’my“jbﬁ.,a'ﬂuﬁd:ajfg;d./4 S ! Sl srmkic Kl - :/@@;L/;L;G/'bw&l&f

Note : Four possible answers A, B, C and D to each question are glven. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

surface is kno(v)yw
Conduction ¢/~ & (D) Thermionic emission /=“.{x"# (C) Evaporation u’&g}gjl (B) Boiling <15 (A)

To correct the defect of vision farsightedness which - g,b{ggdb"’lﬂvui/é_ﬁi./c/ndﬁ'gu‘y = 11
type of lens is used : .
None of these < dy(c;, J-J (D) Both U#s (C) Diverging .f?,udlf (B) Converging .f)u‘/ (A)
Typical value of the voltage and current : (Jf f}wq NS S S Eond L S Lt fe o K| 2
used for thermionic emission from tungsten filament is :
12Vand 0.3A/ #4503 i & 12 (B) 6Vand0.3A/ 4403 . 26 (A)
6Vand3A/ A% 3 . Lhse (D) 12Vand3A/ #5132 12 (C)
To measure the value of current : ‘QBQJJF” Jn J,’Z:’L;‘!(é-LJJ k &’ﬁf&!&/&.b{.dﬂd}u’( 3
flowing in a circuit which device is used :
Ammeter FE( Gal @\eter 2 J” (A)
None of these UMGIGU’U‘ (D) /Vg\g Hehs (C)
We can distinguish between a shrill and grave sound by its : ; @g/u/gjﬁ Jls ‘djlf,/"u.{ JLH{ (7 4
Pitch & (D) Area L/ (C) Amplitude 352 Loudness U%351 (A)
The turn ratio of a transformer is 10, it means : %@ 19 %10 ._»J d u;ﬁ L L1647 /‘ 5
V,
Ns=10N, (D) Vi == N - (B) I¢=101, (A)
10 \g @
When U - 92 ejects a beta particle : (- Zdtu'uuu.\fxl bl l: A.L»..fc, U-92 .16
how many protons will be in the remaini u eus
80 (D) 91 (C) 89 (B) 93 (A)
\ . < -
To get virtual image from a conw}l%ns the object is kept : Iﬁ;ttgbrjff)'&ﬁ. z./J‘ bg IJ.»;A o AJF/.Q 7
Between F and 2F / w/ond_ 2F s/ F (B) OnF / £F (A)
Beyond 2F / s« 2F (D) Between O and F / (sl F 151 O (C)
S 1 unit of capacitance of a capacitor is : : ‘Lt'yr.:r‘z S KoenatiuS A3 4 J k:-’(._(’ 8
N o (D) F 32 (C) 44 (B) V& (A)
(ru;:f( Ju’c. LJ:’«.._.:J)J"_-.- _c..fﬂ 8 .&:fﬂf'///gz/udu(’»cfé_zic..d)// 9
The combined resistance of two identical resistors connected in series is 8 Ohm. Their combined
resistance in parallel arrangement will be :
12Q (D) 8Q (C) 2Q (B) 4Q (A)
The brain of any computer system is : fe b f,L: ¥ (‘J ‘;::{ J ‘fr 10
C.P.UY{ ¢ (D) Floppydisc L3t (C) Memory card 5,65 (B)  Monitor £ (A)
If the mass of the bob of the pendulum is 6 bshpf L‘(u’:"fﬁuw:".bl. WSS u’tb’df J/Mr(fr J1111
increased by a factor of 3, the time penod of the pendulum s motion will be :
Remain unchanged f:.../u'“ u/di (B) increased by factor of two E’(..ba/bf: (A)
Decreased by factor of four §Z 4.&::’/ ¢ (D) Decreased by factor of two 4 lar/ s (C)
The process by which electrons are emitted by a hot metal c_t‘Jw( ‘ "cé uifa lc,t/p(d‘” (jcgf +2) )’u 12

210-019-I-(Objective Type)-25250 (7475)
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Maximum Marks : 48 ( PART-1 J3 .») 48 - /,f
10 2. Write short answers to any Five (5) questions : s oz e (6) 8L = &S -2
(i) Write down two characteristics of simple harmonic motion. ..’cf-: _/f agar“; I3 J cfr £ J-/ (i)
(i) Provethat: v= f4 v=fA 1 & =k (i)
(iii) What do you know about Ripple Tank? U 2l ([ .._rl' Ll S (IJ (iii)
(iv) What is tuning fork? e tf S B (iv)
(V) Write two uses of ultrasound in medical field. -"‘.é’_/ f:-yUVr’i»LJif LIAS gl (b)) tﬁ-fg-' (V)
(vi) State Lenz's Law. & YLyt € A (vi)
(vii) What is difference between step up and step down transformer? &;.J)k;’lﬁ //G/'l}uﬁli%%l?l?}(vii)
(viii) What is the function of relay? S b rK UK L8 (viii)
10 3. Write short answers to any Five (5) questions : Bz oy (5) 6 = & -3
(1) Define power of lens and write its unit. -é’f <YK U -’é.:r ...43/‘." J A ] sy (i)
(i) Draw the ray diagram of refracting telescope. i b Vs o J ,,:ng e ) (ii)
(iii)) How can you define optical fibre? Ut =& d_., b_.,l' - /." J A J{.%T (iii)

e L5 B (iv)
A0 Jw'“:‘@)e‘r(k (v)

(iv) What is meant by compact disc?
(v) Define telecommunication.

(vi) Define piracy and floppy disc. = /"" J bﬂ.i Qlﬁ s S5l (vi)
(vii) What do you mean by background radiations? & % e y’ PR f':'ldé/ 3 ’/:Lr} (vii)
(viil) Write down two uses of radio isotopes. % & e gy L J;,j T ¢4 (viii)

10 4. Write short answers to any Five (5) ques%%sk/: : é.-,uz/-"'&.-.mr (5) ég & Jf -4
(i) Describe the construction of electroscope -é Yk Lol d/ ...._.,:Q/‘g I (i)
(ii) Differentiate between ohmic and non aterial. -é gL J..’ 2 Laset sl Ll (ii)
(iii) Define the S.I unit of capacitanc apacitor. -é - ‘,( <y S 2 M d/ }'3"/ (iii)
(iv) What is the difference be nductors and insulators? e S/ “lf S ‘Jj-:.'r'.l 2l J}’/ﬂ (iv)
(v) Define specific resist a substance.- 24 f&gj S.| 62 ..é...é,’/"g(‘f"};u@{ iu’( (v)
Also write its S.| unit. ,
(vi) Forwhich purpose circuit breaker is used in circuits? St lgédk’fl Lﬁu@f/..:f/wu‘} (vi)
(vii) Describe the function of deflecting plates in cathode -é uL«.rK KU "'ﬂﬁfuﬁg:@.ﬁfgu‘ﬁ{ (vii)
ray oscilloscope. ) )
(viii) Describe the uses of cathode ray oscilloscope. -éuy.dlr:’!( (CRO) f:c:.‘.’ﬂ/-sz{ (viii)
(PART-11 p9s.2)
Note : Attempt any TWO questions. 5 -é O8] 4 L olly e J/ t 2y

. o & & o
4 5. (a) State the reflection of light and explain laws of _2.’:/ _wu,J L1l u’":e»' &/ Yl gfgjg!u’y (W) -5
reflection. A =p
S (b) A doctor counts _ép""éﬁ.-mu”':g/dlu?/’/xfd; e ‘uﬁ'(‘/’) 72 JJ:J&-@ }'/‘5.{1 ()
72 heart beats in one minute. Calculate the frequency and period of the heart beats. B
4 6.(a) Explain parallel combination of resistors with -2; yw:d/b?d'l ',5[.. J /‘J/a.qulfr_L.!Lbf/ () -6
the help of circuit diagram.

5 SrUdalonl o - LE sy brilas0em @ =SHC i g =10uC Zilpsityss (L)

(b) Two point charges¢; =104 Cand ¢, =5 1 C are placed at a distance -2;;’/(;“’:/&}/})5
of 150 cm. What will be the Coulomb's force between them?® Also find the direction of the force.

4 7.(a) Whatis electron gun? Explain the process -é’yur;{%{. )’Luﬁ-"{"'.@:/? "‘clfuf u,/‘gl () -7
of thermionic emission. "
5 'jé('w:ﬁ, —e itk 368 Lo e i 10 JUJ&JMM/ wiall ()
(b) Half-life of a radioactive element is 10 minutes. If the i lsress(32456 23 sl sKUE
initial count rate is 368 counts per minute, find the
time by which count rate reaches 23 count per minute? 210-019-1-(Essay Type)-101000
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PHYSICS (Usf) - 019 oaS b
Q. Paper : II (Objective Type) PAPER CODE = 7474 A ) 12 g4y
Time Allowed : 15 Minutes (o) o 15 1

Maximum Marks : 12 LH’,@/&,, ~/0- /Y 12 : AF
L...J:Zc-//,c:,Ju;ﬁhéfé.:&lrédlr/:{géﬁélﬁ -ujé{.:D # C'B'A a&'ﬁ;ﬁgéd’rﬁ JOT
12 e Sanm?Si S Sk | LS s mlie A -i'_’)/c,ufr‘y/;l.fa/'bw&'lbf
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Boolean expression of AND operation : Ll ui‘):' J cﬁ”{i’ 11 -1
X = A-8 (D) X =A (C) X = A+B (B) X = A-B (A)
Specific resistance of iron : : J:'#)J u@f:f J wsT|2
5.25x10°%Qm (D) 106x10°0m (€) 100x10°Qm (B) 9.8x10° Qm (A)
Half-life of isotope of cobalt 53 Co 1] - d/ ____J ASTL DCol3

Ju 10years (D) JU 15years (C) Ju 20years (B)  Ju 30years (A)
The formula for the time period of a simple pendulum : &% /5-(/' b L H)ij;o:(z 4

iy
. !k 'm (Z /\{;\ ,g
RSN m ©) e k (©) 5 A=A ¢ A)

The brain of any computer system is : 0@\/ P ét) ¥ (z’/ /’,_:.,f u’ Jf 5

Control unit &;{J:}'f (D) CP.U ._#_Qu’ (C) M@mow < (B) Monitor ~» (A)

Speed of sound in steel at 2% » ¢ @y : JGJ J T gﬁ J./ { 25°C|e
5960 m/s (D) 6040 ¢ W%? ) 5950 m/s (B) 3880 mis (A)

a hot : c‘_wﬂunz-,jl;w/’?l;.&fb(d%:u’u@)ul 7

The process by which electrons are emi
metal surface is known as

Evaporation MM"A;-:’ (B) Boiling .f‘"‘i, (A)
Thermionic emission u%f{'.fz‘; (D) Conduction u‘y g (C)
Speed of light in glass : | Ty & ‘fu AV AL
3.0x10%m/s (D) 20x10°m/s (C)  3.0x10%m/s (B) 2.0x10°m/s (A)
Index of refraction of ice : : u:g/z T J-rfc’ ¥ <4|9
1.36 (D) 1.31 (C) 1.33 (B) 1.00 (A)
Power of hair dryer : Pl J ZAUs #4110
800 watts (D) 1000 watts (C) 1500 watts (B) 5000 watts (A)
Capacitance is defined as : fe le J LA S _.g_f/.’. J J'-'-fu'.{ 11
{3 (D) QV (C) 'g' (B) vVC (A)

The direction of induced e.m.f in a circuit is in 4 (.3%& bl s G'Z.ﬁu/u:&//:.f& uéﬂﬁ:‘d | A9 %112
accordance with conservation of : ‘ i

Energy (/! (D) Momentum ,"';’ (C) Charge /b (B) Mass Jb (A)
211-019-ll-(Objective Type)-19750 (7474)
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PHYSICS (V) - 019 oaS 5
Paper : II (Essay Type) (.::fl/u) (b 48l 1T 24
Time Allowed : 1.45 hours Lﬁ/é ’&L -/0-/ 9 145 _"':’:
Maximum Marks : 48 ( PART-1 s .2 ) 48 : A F
10 2. Write short answers to any Five (5) questions : : é.:.;lﬁ/ﬂﬁamr (5) ég e Jf " |
(i) Define the refraction of wave. -é -3/ /‘." J ""/.’z J 2 (i)
(i) What is meant by compression? fe ;l/.l[ & ‘,ﬂ;,‘/ (ii)
(iii) Define mechanical waves and write name of its types. -é{tﬁ(lﬁ'&j wé - /’J);’) JRasa (i)
(iv) Differentiate between noise and musical sound. S O/ L U8 o a5 B (iv)
(V) What is silent whistle? Write its frequency limits. -g),wgf f:g/’ J J T oty V< Sty Z&. (v)
(Vi)De £ine Right Hand rule. WS Je AL (i)
(vii) Can a transformer work on direct current? - s ¥ ¢ o) ok 206 S (vii)
(viii) Define electromagnetic induction. -’q‘J.: -/ /7 J ‘f}:' u@-c ,/‘._G; (viii)
10 3. Write short answers to any Five (5) questions : ez ey 5) by < O -3
(i) Define refractive index. w4 "9'.’./3 § J-rfc’ £y (i)
(i) Write the types of endoscope. -’c.{ z/ U J .{Jﬁ:,‘c’ (i)
(iii) Differentiate between pole and optical centre. & e O/ b L Vo ﬂf »l J{’ (iii)
(iv) Name at least four browsers being used now-a-days. -&'/rtéb%@gl Llsé.ndw"'&f &7 (iv)
(v) Define word processing. - By J _ﬁr:{ 5 (V)

(Vi) Write the storage capacity of Compact Disc (CD) -é/ )2 LZPUJ G303 o S35 (vi)
and DVD. o gE. B g
(vii} What do you mean by nuclear transmutation? @ ~ Se ol L_/ < oSSV /:5; (vii)

(viii) Write the difference between fission reactionﬁ> -é_/ f:} /u:ﬂ ISa)59 ol ui{ I, (viii)

fusion reaction.
10 4. Write short answers to any Five (5) @t ons : : &2 L (5) ég e df -4
(i) How does electrostatic induction di O@?‘%‘J&‘{ i/ Zyzl{ff)'é.ﬁé}’jf b’u’fﬁ:lu@,}? (i)

from charging by friction? .
(ii) Write any two uses of capaci e e 8 L G
-2 74 eyst £ pagtansS i

(iii) Define S.I unit of capacit
een conductors and insulators? fe Y L iHP )}ffcﬂ/ (iv)

(iv) What is the differen

(v) Differentiate between Ohmic and Non-Ohmic materials. -’jdf ISl Zdastt sl Lol (v)
(vi) How many watt-hours are in 1000 Joules? Ut Lt T &y & A J# 1000 (vi)
(vii) Describe the uses of cathode ray oscilloscope. -é Uk Je1 ¢ (CRO) 7?)!.’:’4./5:;‘! (vii)
(vili) Write the truth table of NAND gate. ek A2 oL e (i

( PART-II (9 @)
Note : Attempt any TWO questions. f oL ezl ety ve §f o

4 5. (a) Explain the refraction through convex ..’éc_uJ(lfyigzyL’nJJ‘Zé,é’gﬂﬂgfgf () .5

lens by making ray diagram.

* £ 29
5 (b) If at Anarkali Bazaar Lahore, intensity ?Jm_f u"-"id’}:svw?n 80 dB d:!gf“‘%b’fcihjzugg?:tlﬁ (<)
level of sound is 80 dB, what will be the intensity of sound there? £

4 6. (a) Whatis meant by series combination of -é{f&?";"ﬁ. JJ I ?c"_:’/{fc./‘zz L i () .6
resistors? Write down its three characteristics.
S -‘4.6/?‘9-)}( 1.6 XIO—I() {g./).fng{/)b:?g.{Lﬁ $¥s1 L 100 pC Zy;k(.;«bifg}l:{ﬂ"ﬁ‘gz (.,,)
(b) The charge of how many negatively charged particles would be equal to 100 uC .
Assume charge on one negative particle is 1.6 x 10~"'° S8
4 7. (a) Draw the circuit diagrams of _’gh(ﬁ‘d"iﬁéd’f{ Ttz Lz(l/?lh‘f/p(ﬁ.;f OR s/ TAND () .7
AND operation and OR operation and also write the truth table of both these operations.
5 LUy e w3 oK 368 a0 e oo 10 SIS et iyl ( «)

(b) Half-life of a radioactive element is 10 minutes. If the iniial . Z_bysrusr 329K 23 wrsntil
count rate is 368 counts per minute, find the time by which

count rate reaches 23 counts per minute? 211-019-ll-(Essay Type)-79000
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PHYSICS (UFs) - 018 oS 5
Q. Paper : 1I (Objective Type) PAPER CODE = 7471 CASZ I pdr
Time Allowed : 15 Minutes (..v.,;/éu;;) o 15 1 &
Maximum Marks : 12 12 : A5

Lotpana S i drryd68in -t D 5 C'B A alinlle Ly - &
-(,ﬂjraw'...«'i.u}fiw.:ur’Jsz Sok ! L/ﬁfu;;buyc_ug -Z:)/fc"-c}_;‘&):Lj;ﬂ)w&w
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

The relation between v, f and A of a wave is : : (‘,_Jlﬂ u,l‘/ul.a’%; 1 p"":':g P uf' u,Jg,uQ 1 -1
A

vi=f (D) L (O T A ) v =4 (A)

Which is an exampie cof a longitudinal wave : L JC‘«' J E4] Jﬁg?";’ 2
Light wave 4 f‘fu (B) Sound wave #5550 (A)
Water wave #s¢ dL (D) Radio wave #:44. (C)

Index of refraction of diamond is : : ::'.uig/./_:‘ f’u’g}:ib’g.lgz 3
2.42 (D) 2.21 (C) 1.66 (B) 1.52 (A)

Speed of light in water is @@ké) : ;_;}n,ngé%/uﬁ d.L. 4
x10%ms™ (D) 2x10°ms™' (C)  2.3310%ne 3x108 ms™ (A)

—

S.1 unit of charge is : @\p ey (S) dl\/‘!((/ k|5
Coulomb % (D) Volt Lhs (g:;&@ Newton ¢/ (B) Kg rt¥ (A)

One volt is equal to : : c"_t":f/.’/...*f'”.g 6
I NC™' (D) @:@g 1Jc™ (8) 1JC (A)

When we double the voltage in a gié@y :_dbrbfwwf‘d 74 yugg.:/ lr@:(c-\-ﬂ g .‘«J: /o:b.,g("'_.». 7

electric circuit, we double the
BothA& B Us: B s A (D) Resistance J"L (C) Power st (B) Current oS (A)

Mathematical form of Ohm's Law is - g &QVJUJGL(?;' 8
=Q/V (D) Q=It (C) V=IR (B) P=1V (A

A device which converts electrical energy into c"_b'llz*/ ~&- t’/Jn’ K S A Pmasa fu’./'!gﬁ-}g RJITLLI 9

mechanical energy is called :
All of these ¢l (D) Transformer 2/&/17 (C) Generator =7 (B) D.C. motor »5U5 (A)

The process by which electrons are emitted by a hot c‘-_t'llr( -Uﬁézl&i’)}? fe. 5’(/ J J’-?u:f S (] )’L,ji 10
metal surface is known as :

Evaporation sl (B) Boiling iy (A)
Thermionic emission *%fx# (D) Conduction % (C)

What does the term e-mail stand for : : c_...,u; K& ‘,/ J g1
Electronic mail Jouk: /\'Jf (B) Emergency mail £ YA (A)
External mail de’/f I (D) Extra mail Jo /’ (C)

One isotope of uranium is ZSEU . The number  : g_)'ﬂudly's)xfuﬁ?;y’!fur = 92U .o’r’ !..fl(r""u’ 12
of neutrons in this isotope is :
330 (D) 146 (C) 238 (B) 92 (A)

210-018-1-(Objective Type)-23875 (7471) M /e _f,g
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PHYSICS (Ufs) - 018 T
Paper : II (Essay Type) (.,Ju,;) (b 4slasDI @ 5y
Time Aliowed : 1.45 hours 145 0 =
Maximum Marks : 48 ( PART-T Jif .2 ) a8 : AF
10 2. Write short answers to any Five (5) questions : : iz 2y (5) ég e ¥ -2
(i) What is meant by time period? fe. ol V < i “ (i)
(ii) State Joule's law. L Yk wIE K J2 (i)
(iii) What is difference between musical sound and noise? ‘e J/ l:( S s B R (i)
(iv) What is audible frequency range? fe l..;( » J ﬁy{ / <l J‘L’i (iv)
(v} Define intensity of sourd. -é ...e!/“’. J S ang sl d/ 251 (V)
(vi) Define current and write its unit. ..2.5 <K s & -é.’/.; S oS (vi)
(vii) Define unit "Ohm". -é uy/.’. J “ < 7 2y (vii)
(viit) What is the work of fuse? S 6 ¥ s (v
10 3. Write short answers to any Five (5) questions : : é..-.-., Le/‘"L:.«U!r (5) ég = 3:( -3
(i) If P=6cm, F=10cm mirroris concave, find g7 -.’:fg()"‘ q sy ,F=10cm P =6cm /i (i)
(i) What is meant by critical angle? Yo sy !_.;( & ﬁ' St ; (i)
(iii) Write two uses of optical fibre. L& W g L A6 AT (i)
(iv) Define capacitarice. 25 S s S (V)
(v) Define electrical potential. _6@5 S Hhogts Ji;-?‘: (v)
(vi) What is meant by telecommunication? @ Ve gf PN W ,.:»f Jf (vi)
(vii) What is meant by data management? O(&@O fe sty Y = Lade 3 (vii)
(viii) Write two services of interet. SN\ S SN GV (7 )
10 4. Write short answers to any Five (5) quess%é?.ﬂ : é@&ljz/"’iﬁawg 5) &l = Jf -4
(i) State Fleming's left hand rue. -Ef.f Uk St € S LK ._f.'u_";_ls (i)
(i) What is meant by step down transfor r’@ S aip lf e LI il _?f;“ (i)

<O ¢ i
illoscope. ‘f"f et L uw L .,u‘; e oy (iii)

mbol and &b At St e ed S04l NAND (iv)
truth table.

(v) Define thermionic emission. -é _g_f/‘." L/( g;%' .fx,’; (v)
(vi) What is meant by half life of radioactive element? e J!/ Ve I § w25 0k (i)
(vii) Define carbon dating. -éf;-( ..43/7 J uéf;ﬁ /8 (vii)
(viii) Write two characteristics of ﬂparticles(. & .:,‘l:v:) nd Jf’;g ( B) b (viii)

PART - 11 ¢ )
Note : Attempt any TWO questions. ' ' . _é..-.uzé.:.mr » :.Jf P oF
4 5, (a) Whatare mechanical waves? Describe its types ..é Ehe u:"\?‘(lﬁlu(;j [ ?@L[Jg,f.f" () -5
with examples. ' .
5 (o) Foy S Erin 16 om FEIN /1 ety g b2 10.5 em PP 30 (L)
(b) An object 30 cm tall is located 10.5 cm from a concave mirror with focal -2‘2 (yh'” QI sl
length 16 cm. Find the location and height of the image. i

4 6. (a) Explain one application and one hazard of -é yu,&ﬁv{u»&w’..pr J’i}g e () -6
static electricity. _ . .
. s : . &1 s (3
5 Lo 2 eSSt 1.5 A el FIUN e 10V PAASHSHC (D)
(b) By applying a potentiai difference of 10 V across a conductor, a current of el eSS
1.5 A passes throughit. How much energy would be obtained from the current in 2 minutes?

4 7. (a) Explain in detail about compact disc 1and flash drive. <282 7 Aadi g ¥ !;3&’%)‘.)?5#9/(_9') =7
5 S« g S Bl it IS 14 6B Sy e ()

(b) Ashes from a campfire deep in a cave show carbon-14 activity of only one-eighth the activity
of fresh wood. How long ago was that campfire made?

210-018-I-(Essay Type)-95500 i
A LR _~ 10 - 1 &

(iil) Write the parts name of cathode
(iv) NAND is a universal gate, give.
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PHYSICS (UAs) - 018 oS b
Q. Paper : 11 (Objective Type) PAPER CODE = 7476 GAS») T gy
Time Allowed : 15 Minutes (.;;/7/»)’ 24 15 @ =
Maximum Marks : 12 12 i/'.iuK

((—w"’u’/ C‘_'Vr:U‘/‘)ZC..- '&-V&J’f/’/(égdl}" —V"Zé- D st C 'B ‘A wt'fj/béur}’/ : &;

-(fﬂ"’b&.«‘iu)& ..:«J:‘Jd_./r/ Sk L L/Cp())/ha)wc.mi K “)/”’c...fL/LJo/‘ S b

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which part of a D.C. motor - ‘;_la;/‘)“ifofgf.*;/&.h{:,cui\ﬂiia’éd?b&:l'/;.awuﬂ/‘r ¢ U311
reverses the direction of current through the coil every half cycle :
Slip rings //.;A/ (D) Brushes % (C) Commutator 74 (B) Armature AT (A

Which is the most suitable means of reliable < 236t gaS Fnsbislar brglnd Sl ad 27| 2
continuous communication between an orbiting satellite and earth :

Radio-waves ¥ ks (B) Microwaves ),;’»/..C/ L (A)
Any light wave s/ (D) Sound-waves J#s%3L- (C)
What is the voltage across a  © < bigeai s y SIAIL fis 1 {_tv:f..:/'/ 3Aae il 6K (113
6 € resistor when 3 A of current passes through it : QVQ
36V (D) 18V (C) (o9 2V (A)
O "
Which of the following is not processing : ﬁ\ : c‘:.gjfué.:’){f L/c)/ 4

Manipulating t/27:% ( § Z@ Arranging Laee? (A)

Gathering /11 Calculating t./0't> (C)

- . ),/ .
In vacuum, all electromagnetic waves have;h u‘u‘{ u’a .ﬁ){';..@?;/‘f tl»w:,»z?, 3

Wavelength #5295 (D) Amplit C) Frequency i} (B) Speed 4r (A)
The particles emitted from a h@ surface are : ! "L.va uru/lac,é/ J »" 'ﬁ’/gztd.i 6
Electrons ;F;/’?f (D) Protons 7, (C) Negative ions ,,3[; (B) Positive ions / lf',u’ (A)

For a normal person, audible frequency range for sound wave '+::Mo J :..( /J ;L-th-bé.[.dz I(u..{f 7

lies between :
30Hz-30KHz (D) 25Hz-25KHz (C) 20Hz- 20 KHz (B) 10 Hz - 10 KHz (A)

Unit of charge is : e iy K Lk |8
Ampere #+ (D)  Coulomb .,J/ (©) Watt &5 (B) - Ohm /sl (A)

The types of spherical mirrors are : : ug(lﬁ'd/)//‘ﬁ-/f’ 9
8 (D) 6 (C) 4 (B) 2 (A)

Which of the following quantity is not changed during : (}ru‘/ J’ yJ!wJJ:c,V»J ;;/Mv‘lwc.vr’g JJ/ 3,110
refraction of light :

its speed fgf;'fu‘l (B) Its direction = dU (A
Its wavelength i%;Jw (D) its frequency gj";t/'p(u’l (C)
One of the isotope of uranium is ZS;_‘U : :g:.)l,«;"&/':}jfu.f.?,iflfufl - 23§U .;«.:7/7 _iK(_"’:/;j 11
The number of neutrons in this isotope is :
330 (D) 238 (C) 146 (B) 92 (A)
Capacitance is defined as : : ‘LL}PJC)J’J/J 19 U’-:'f 12
v/Q (D) QV (C) Q/V (B) vC (A)

211-018.1I-(Objective Type)-17750 {7476} R )t -2-1%
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PHYSICS (i) - 018 oS 5h
Paper : I (Essay Type) (orSips) G aslad I - gy
Time Allowed : 1.45 hours S} 45 DA
Maximum Marks @ 48 ( PART-1 3 @) : A
10 2. Write short answers to any Five (5) questions : : é.:.«l, /"[_...«Wr (5) ét " J o
(i) How can you define the term wave? 14 </ .42/ = J s (i)
(it) What is meant by diffraction of wave? 4.. Ay lf u,m.(‘ )a.\ g ¥ (i)

(iii) Define pitch of sound. What is the relation "LUUUJJ"//»’CV( (1 é J/“ d/ 6 J k3L (iii)

between pitch and frequency of sound? ! L — o
(iv) Calculate the frequency of ~» 0.5 m n’%’: s 340 ms~ &;J%V.é é(}"’ﬁk/&){;ifb (iv)

a sound wave of speed 340 ms ! and wavelength 0.5 m.

(v) What is the audible frequency range for human ear? (04 VJ‘MJ))L’J k'J L’cJ_[.uKJLJ’ (V)

(vi) Define electric current and write its unit. .é <y § U c’: -2 /“ J _r/ J/ﬁf (vi)

(vii) State Joule's law. L Ul IF ¥ U7 (vii)
(viii) What is difference between musical sound and noise? fe J/ Lf o s o B s (Vi)

10 3. Write short answers to any Five (5) questions : é...«&b’/“‘ﬁumr (5) &L - Jf -3

(1) Draw the ray diagram of refracting telescope. -a.lf ('/'/U: <../ ._aﬁé’ ﬂ 7 ()

(i) How farsightedness defect can be corrected? {a vr yI3) ci/ S J’u L d/"{o” (ii)

(iii} Define resolving power of an instrument. “c_ PP »l J)’;/z J (iii)

(iv) Define electric field intensity and write its unit. -i/f...a’ Q ...nf /Ur 5l 4 _f/.») o (iv)

(V) Define dielectric. ﬁ\ -5 -2 /" d ..«/C ldl: (V)
(vi) Define software. ® ..Z./ - / S maziy (vi)
(vii) What is meant by optical fibre? % S sy | Vo A 6 J/f" I (vii)
{viii) Define " ICT" ( in information technology). @ o5 :’Lcu"'/lﬂl )-é": - /’J (ICT )&J d' (viii)
10 4. Write short answers to any Five b@esuons Juw,;’[...«wy ) ét = Jf -4
(i) Define Fieming's left hand rule, -c‘f Jk S ¥ afl, J’ L ..ffu
(i) State Lens's law. zf Wk 9§ A (Il)
(iti) Write different name o ponent of cathode @ (e Lo G L :ﬁ:":f e (iif)

ray oscilioscope
(iv) Draw diagram of NAND gate and write its truth table. & J"' P sl &t f d/ J iz (iv)

(v) Define digital electronics. Zf: J/" SRy A J"{ 3(V)
(vi} Define isotopes. _ _é J/’ u( u) I T (vi)
(vii) Describe two uses of radio isotopes. -é b = U1 4y L uJ T s (vil)
(vill) Define nuclear fusion. -é J/‘." d/ 057 /"':Kx (viii)
( PART-1I (1) 2 )
Note : Attempt any TWO questions. - ...«WZ.UUV » a..J/ FOF |
4 5 (a) Prove that motion of a mass -c..J,»'JnLJ’JrJJL‘_r&deL.f/féf./b‘ (&) -5
attached to a spring is simple harmonic motion.
5 10 em ol NGNS « S oWl o6 E e 2 e 15 em 220K PG (O)

(b} A concave lens has focal length of 15 cm. At what dlstance-épl’” a1 Sad o..iud/ /J A
should the object from the lens be placed so that it forms an image
at 10 cm from the lens? Also find the magnification of lens.

4 6. (a) Explain Coulomb's Law. -é._»woum_’..»’f (1) -6

5 {(b) A current of 3 mA is flowing "c.&u/bzlpbru’/b -:_l/...f/ 3MA Lo "1 e AL ()
through a wire for '1" minute. What is the charge flowmg through the wire?

4 7. (a) Differentiate between & LL//}_«’)’ 23 4/:;4.4»‘ C{U/gf/"}w’/ s zasy () 27
hardware and software. Alsc write name of different hardwares and softwares
5 *Eon 3o 60-2I ol 26 —eJb 5.25 i 60-2 N vt (L)

(b) Cobalt-60 is a radio active element with half life of 5. 25 years. What fraction of the original
sample will be left after 26 years?
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